
<THESE INSTRUCTIONS MUST ВЕ GIVEN ТО ТНЕ END USER> 

B&W Trailer Hitches 

Turnoverball™ Gooseneck Hitch Installation Instructions 

Model 1016 
2016 Chevrolet & GMC 

% and 1 Ton Heavy Duty, 
Short & Long Bed Trucks. 

Mounting Kit Вох (GNRM1016) 

!ТЕМ DESCRIPТION QТУ 

1 Driver Sideplate 1 

2 Passenger Sideplate 1 

3 Front Crossmember 1 

4 Rear Crossmember 1 

Mounting Кit Bolt Bag 

0-Ring 1 

1/2" Х 1-1/2" Сар Screw 8 

1/2" Х 2" Сар Screw 4 

1/2" Flat Washer 8 

1/2" Lock Washer 12 

1/2" Finish Nut 6 

16mm Х 40mm Сар Screw 4 

5/8" Flat Washer 4 

5/8" Lock Washer 4 

7 

8 

6 

8 

Center Вох (GNRC912) 

!ТЕМ DESCRIPTION QТУ 

5 Center Section 1 

6 2-5/16" Ball 1 

7 Latch pin Handle 1 

Safety Chain Кit Bolt Bag 

8 1/2" U-Bolt 2 

9 Conical Springs 4 

10 1/2" Lock Nut 4 

5/16" Х 3/4" Carriage Bolt 1 

5/16" Х 3/4" Сар Screw 1 

5/16" Flange Nut 1 

IAwдRNINGI Failure to comply with the safety information in these
instructions could result in serious injury or death. 

А Read all installation and operating instructions along with all А Do not modify this product in any manner. Doing so could

labels before using this product. alter its integrity and lead to а loss of attachment between 

А Without proper knowledge, towing сап Ье а dangerous
activity. Understand all the risks involved with towing before 

proceeding. For information оп towing safety, see "The 
Trailer Handbook: А Guide to Understanding Trailer 

and Towing Safety" 

А The Turnoverball hitch comes equipped with а 2-5/16" ball.
Trailers towed with the ball provided must have а 2-5/16" 

coupler. Towing with а larger coupler could cause loss of 
attachment between the trailer and the tow vehicle. 

А This product was designed to fit vehicles in their original,

"as manufactured" condition. Compatibllity with vehicles 

having replacement parts, or other modifications is not 

guaranteed. lnspect vehicle for modifications before 

installation of this product. 

the trailer and the tow vehicle. 

А Do not exceed tow or tongue rating of coupler, tow or
tongue rating of hitch, or tow or weight ratings of truck or 

trailer. See vehicle and trailer manufacturer information for 

ratings. Exceeding these ratings may cause damage to 
towing components or loss of attachment between the 

trailer and truck. 

А Adding components such as а Turnoverball hitch to the

chassis of any vehicle сап Ье hazardous. There is potential 

for unexpected combustion of fuel, electric shock, burns, 
shifting or falling of unstaЫe vehicle, damage to vehicle, 

injury from tool usage and many other hazards. This 

installation must Ье completed Ьу someone who is aware of 
the hazards involved. This person must Ье knowledgeaЫe 
of proper safety procedures for а vehicle modification of this 

nature, and for usage of the equipment required to perform 
the installation. 

PAGE 1 

http://www.carid.com/bw-trailer-hitches/
http://www.carid.com/gooseneck-hitches.html











	1016 xx xx xxxx Model (p1)
	1016 xx xx xxxx Model (p2)
	1016 xx xx xxxx Model (P3)
	1016 xx xx xxxx Model (P4)
	1016 xx xx xxxx Model (P5)
	1016 xx xx xxxx Model (P6)

